Was ist die richtige Losung? (plus Zahlen bis 100)

* N N

Plusrechnen

4 180+5= 5. MM+9= & MF+3=_
7 556 +0= s 694 +5= 9. 657 +10=
0913 +5= 1. 185+ 7= 12104 +2=
13259 +10= 14184 +0= 5. 7138+6=
16545 +10= 172200 +10= 8. 66F+1=
19.256 +5= 0 8+5= 2. 465 +8 =
2. 665 +2= 3.921+7F= 22318 +5=
5.830+0= % 83+1= 07.225+ 9=
2. 455 +3 = 29.203+9= 30231+2=
31350 +10= 2491 +F= 2451 +4=
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Was ist die richtige Lsung? (plus Zahlen bis 100) | ANTWORTEN * KK

Plusrechnen

. 150+5= 155 - 11+9= 20 , 117+3= 120

7 556+ 0= 996 5 694 +5= 699 657+ 10 = 667
0.513+5= 518 |, 185+7= 192 , 104+ 2= 106
13259 +10 =269 1,184 +0= 184 5 738+ 6= 744
16545 +10 =595 ;201 +10=211 5 667+ 1= 668
9256 +5= 261 5 8+5= 13 , 465+8= 473
7 665 +2= 667 5 521+ 7= 528 ,,378+5= 383
5.830+0= 830 ., 83+1= 84 ,; 225+9= 234
s 455 +3 = 458 203 +9= 212 ., 231+ 2= 233
31350 + 10 = 360 ) 491+ 7= 498 35 451+ 4 = 455
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